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/ For a sequence let T, be its r*" term then the sum of firs 12 terms of series is given by
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/8./ If o, B are roots of ax* + bx + ¢ = 0 then quadratic equation whose roots are

11 |
a’B -

~9./ If x = 0 is a root of quadratic ax? + bx + ¢ = 0 then P-o-=0 = <O

24 If both roots of quadratic ax? + bx + ¢ = 0 are 0 then Po%=0 g $0R=03 b=o
c=0Q
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Problems Based on Sn=X"Tn



QUESTION ) («4;P) Iz ), B L () 32)

Consider two fixed linesy - x =0 and ky + x = 0, k > 1. A particle P starts from (1, 1) to
reach origin in the manner depicted as shown in figure. If the total distance travelled by
particle is 3, then find the value of k.
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QUESTION [JEE Mains 2024 (30 Jan)] ) S AKCLS

Leta =12+ 4% + 8%+ 13% + 192 + 26% + --- upto 10 terms and B = Z n*

[f4a — B = 55k + 40, then k is equal to
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QUESTION) AP:1,2,3,4,567-- - @

1 1 1
T 5 3 e up to n terms.
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In case a factor is missing in continued product in denominator we multiply and divide

by that factor so that the in denominator we get a complete continued product...
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QUESTION [IIT-JEE 2010] ) FAKCLSHH

LetS, =1, 2, ..., 100, denote the sum of the infinite geometric series whose first term is

o | 1
—— and the common ratio is E Then the value of
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QUESTION [JEE Mains 2024 (31Jan)] ) *HASRQ ¥

The sum of the series 12 Sk 22 =1 32 -+ ....up to 10-terms is
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QUESTION )

1+2-3442-3-8-545-9 8 L0 L. up to n terms
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Note:

(i) There is no general formula for finding the sum to n term of HPv

i i S |

(ii) Ifa,b,careinH.P.= —,—,—arein A.P.
a b’'c

(iii) No term of H.P. can be zero. rd
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QUESTION ) &>

mn
(a) The m™ term of a H.P. is n and the nth term is m. Prove that the p* term is %

(b) If m™ term of an H.P. is n, and n™ term is equal to m th\en i iove that (m + n)* term
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Revision Practice Problems (RPP)



QUEST.ON ) Rpp 1A

Paragraph
In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then .

y = f(x) is given by

xZ
do

Ans. A



QUESTION )

Rpp 1B

Paragraph

In the given figure vertices of AABC lie on y = f(x) = ax? + bx + c¢. The AABC is right

angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Minimum value of y = f(x) is

C JC NC NC
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Ans. B



QUESTION ) Rpp 1C

Paragraph
In the given figure vertices of AABC lie on y = f(x) = ax® + bx + ¢. The AABC is right
angled isosceles triangle whose hypotenuse AC = 4+/2 units, then

Number of integral value of k for which g lies between the roots

of f(x) = 0, is
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Solution to Previous TAH



QUESTION >

1
a,, a,, as, ... is a sequence such that a, = 5 & (3+a,)(4—ap;1) =12 then
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Solution to Previous Shikaars
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